2:3+4:5+= : 3.4+5.6=

2{3%4)T = (3-4+5).6=
2-(3+4-3) = : 3.(4+5)-6=
soucet: soucet:

1344 :7 = 2448 :6 =

{/’],-

/

A3,

2-10+30-4= 3.10+2-.100 =
(2-10+30)-4 = 3.(10+2)-100 =
2-(10+30)-4= (3-10+2)-100 =
2-(10+30-4) = 3-(10+2-1od)=
soucet: __ soucet:
2760:3 = 38300:5 =

3.5+25.4= ' 5.6+4-10=

(3-5+25)-4= 5-(6+4)-10=
3.(5+25)-4-= (5-6+4)-10=
3.(5+25-4) = 5.(6+4-10) =
soucet: soucet:

8550:9 =

7.8-2.4=___ 6.15-53=

(7.8-2)-4= __ ———— 6-(15-5)3= — ————

(6-15-5):3=

7.(8-2)4 ———

7.(8-2-4)= —  ———— 6-(15—5_-3)=__,________
ucet soulet:
SO - —

§184 : 12 = 2040:4 =
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